Dina Bed

ITEM NO.: H8057A

Assembly Instructions:

When assembling this bed, carefully remove all wrapping
materials and ensure all parts are accounted for.
Assembling on a clean flat service will minimise the
chance for damage. Keep the packaging until the item

is fully assembled.

For safety, assemble the bed in the correct steps.

Do not fully tighten all bolts until all parts are in place,
failure to follow these instructions may cause the bolts
to become misaligned during assembly.

If using power tools to aid assembly, please use caution
as power tools can damage the hardware and/or the product.
This will void the warranty.

Assembly

o O
Requirements: @ @

Hardware:

Headboard leg (Pre-
attached to headboard)

70mm bolt (Pre-
attached to headboard)

—~
=o|| T}

Frame leg

O O | o >
N | Do N

22cm Frame feet

D-45 Bracket
(for footboard)

g |0

;

-
N

Plastic bracket

(@

G 38 M8-30MM

(@@




Dina Bed

Step |

HEADBOARD

SIDE RAIL

STEP 2

STEP 2 INSTRUCTIONS :

*« ATTACHFRAME LEG(C) TO C-BRACKET (E)
BY M8-30MM BOLT(G AND THEN ATTACH TO
HEAD BOARD AND SIDE RAIL BY M8-30MM
BOLT(G).

+ ATTACH A-BRACKET (E) TO HEAD BOARD

AND SIDE RAILS BY M8-30MM BOLT(G)

FOOTBOARD

STEP 1 INSTRUCTIONS: SIDE RAIL

ATTACH FRAME LEG(C) TO D-BRACKET (E) BY M8-
30MM (G) AND THEN ATTACHED TO FOOT BOARD AND SIDE
RAIL BY M8-30MM BOLT (G).

Step 2

* *NOTE* PLEASE MAKE
SURE FOOTBOARD AND SIDE
RAILS ARE ALIGNED BEFORE
TIGHTENING SCREWS.

| STEP 3 INSTRUCTIONS: |

« ATTACH PLASTIC BRACKET(F)
BY M8-30MM BOLT(G)




Bed




